Lo C‘hel{jshe‘d's Inegualily

Wmd: b 4 be £ ) F )
exisks , thea  for ey Qusihive Ceastant €.
ﬂ: ! ux) 2C) € E(“W)
C
ffno':.'
b X be  cadinvovs  Random  Valiable
b > o
b Az 3Xt dl) 2C 1 Ta AT Yaxcumsc]
. . .
ap Bl pla)) = \[ ul) f0 ol = { Ulx) FN A s ot B dx .
ol A R’.
e Eluta)- § umtl da - JT Ut (0 42 0]
A 'l
Bl vlt) >0, FX)>. be ol xe A™
= [ ub) M) d & *
A-k
. on ) K uw) —f ul) Hx) d8 > o
A
. S0 Holw) > Jf Ux) M) ofd - @
A
- R ulx) >C  ¥xe A .
|
iu(x)!:(x) > cfx) e A ( %) 5o vacA ) |
o [l dX % [cRdx = ¢ [0 dn = cle(xed] g
A A A — 5

STUDENTS-HUB.com

|

Uploaded By: anonymous ;



= Jr ux) B x> ¢ f'r(u(x)zc) ..

A

@ +Q ~» Eux)) > cf’r(u(x)zc)

e Eum) > fr(ub) =) Fin
C

= felvl)»e) g Elv) , cs.
c

T L: Chebﬂskms Tneq val, H .

b He udom vafiable X how o disk, o fababilibs . dbovk

__M&_MMLML—M 5 Q Nallance 132.

Thic ok Coufse im?ln‘m Hhat ﬂcﬁz ik a_ mean A ﬁ(m B

Wffjvl Kxo
fr(IxAl > K2 ) < 1

kt

ob_equivaleatly Bl Jxudl < K2) > L

b Ul) = (x=o)" | o K&, Koo, 2o
Tom Tmb o flua>cC) < E(gtx))

K2t

R O { (xod)® = KZ2) < E(xAr)

- (x> kd) & 8 .

|- Ix-AI<K8)s A oo (el g2) > - )
t K!

k'l.

STUDENTS-HUB.com | Uploaded By: an’onymous



F[)\), ] ' JIi<<3 Cobiwers

253
p elscuthele.
A W G
). _fnd A . -
A= Elx). ;LF{x)szrx L Jdx - o
o 2f3
rd -J3
2. R 4
Fad 3 = - ==
) oo de o [0 @ oo a fx V- Vo boafm .
- J o5 02 g ) o ]

~

- P 5 : .
[l R W 3 e i i o ViRl AalbY

e 21-; ‘E{X:)"{‘E{Z))z e Yoog o

03—F= ' s

X
e (nzg)= 1 (< 3z) - 1o [ 9
2 b { 3 ) ;1 e A

= 1= (2 _-2)
25 V2 z7
—
\2)3 ’
_ — = o.§%
21z
o>
“STUD_ENi_TS-HUB.com Uploaded By: anonymous

.
pie I



me A Mlzg ) usiddg rJ.e}z}s)vu's

mfgml.gl :

fr( |x-od| % Kz ) L 1
"1

?r( Ix-0] > 2 I) € ])
2z "_5{ T

?f{ Mlz §) el ! = o."i"‘lq .

5. f(al=2) - .

_ breapse J3- 17, 2>53 o ja dsculds i oo dutsis)y ol
L. Find an  opperbond  for  fr( Wz 2) using chebysheds inequaliby
e lx-o)l = 2.1) < 1 It vactly o ey le
fr( Ixl22) < s I
Check _exp 7.
ji donée

STUDENTS-HUB.com

Uploaded By: ang
(|

nymous



